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P–7231 

B. Com. (First Year)  

  Term End Examination, June-July, 2020-21 

¼lewg&I½ 

Paper First 

foŸkh; ys[kkadu 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1

2
2

 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- Hkkjrh; ys[kkadu ekudksa dks dkSu tkjh djrk gS \ 

Who issues Indian Accounting Standards ? 

2- ‘kq) lEifŸk dk D;k vk’k; gS \ 

What is the meaning of Net Assets ? 

3- ^vnŸk fdjk;k* dkSu&lk [kkrk gS \ 

Which account is ‘Outstanding Rent’ ? 

4- f}izfof”V iz.kkyh dk vkfo”dkj fdlus fd;k \ 

Who propounded of Double Entry System ? 

5- cM+h ek=k eas fd;k x;k fo’ks”k foKkiu dkSu&lk O;; gS \ 

Which expenses is a large amount spent on special 

advertisement ?  

6- ryiV D;k izdV djrk gS \ 

What is disclosed by the Trial Balance ? 

7- ryiV ds varj dks fdl [kkrs esa vUrfjr fd;k tkrk gS \ 

The difference of trial balance is transferred to which 

account ? 
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8- ,d fuekZ.kh lk>snkjh esa lk>snkjksa dh vf/kdre la[;k 

fdruh gks ldrh gS \ 

What is the maximum number of partners in a 

manufacturing partnership ? 

[k.M&c 

(Section—B) 

9- ys[kkadu dh nks izFkkvksa dk o.kZu dhft,A  

Describe only two conventions of Accounting.  

10- fdUgha nks Hkkjrh; ys[kkadu ekudksa dk o.kZu dhft,A  

Describe any two Accounting Standards in India.   

11- jksdM+ ,oa O;kikfjd dVkSrh lEcU/kh iath izfof”V ds fu;eksa 

dks le>kb,A  

Explain the rules of journal entries regarding cash and 

trade discount.  

12- ijh{kk lwph ,oa fpV~Bk esa vUrj dhft,A  

Distinguish between Trial Balance and Balance Sheet. 

13- mpar [kkrk D;ksa [kksyk tkrk gS \ la{ksi esa fyf[k,A 

Why is suspense account opened ? Write in brief.  

14- ewY; kl ds dkj.kksa dks le>kb,A  

Explain the causes of depreciation.  

[k.M&l 

(Section—C) 

15- dkj.k lfgr crkb, fd fuEufyf[kr O;; iw¡thxr gSa ;k 

vk;xr \ 

(i) iqjkus la;a= dks izfrLFkkfir djus dk O;; 
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(ii) ,d vuqca/k ds Hkax gksus ij {kfriwfrZ 

(iii) eky ds Ø; ij xkM+h HkkM+k 

(iv) ubZ e’khu yxkus dk O;; 

Mention the reasons, whether the following 

expenditures are capital or revenue ? 

(i) Replacement cost of an old plant 

(ii) Compensation paid for breach of a contract 

(iii) Carriage paid on goods purchased 

(iv) Wages paid in the erection of new machine 

16- fuEukafdr v’kqf);ksa ds la’kks/ku ds fy, jRuk HkaMkj dh 

iqLrdksa eas vko’;d ys[ks dhft, % 

(i) jes’k ls ` 59 izkIr gq,  ysfdu mlds [kkrs esa ØsfMV 

i{k esa ` 95 fy[ks x;sA  

(ii) dk;kZy; esa e’khujh ` 167 esa Ø; dh x;h  fdUrq 

bldk ys[kk Ø; [kkrs esa fd;k x;kA 

(iii) ubZ e’khujh yxkus esa ` 200 etnwjh nh xbZ  bldk 

ys[kk etnwjh [kkrs esa fd;k x;kA  

(iv) Ø; iqLrd dk ;ksx ` 89.50 ds LFkku ij ` 98.50 

vxys ì”B ij ys tk;k x;kA  

Pass necessary journal entries for the rectification of 

the following errors in the journal of Ratna Bhandar : 

(i) ` 59 received from Ramesh were credited to his 

account as ` 95. 
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(ii) Office machinery bought for ` 167 was recorded 

in purchases account.  

(iii) Wages ` 200 paid for installation of a new 

machinery, were recorded in wages account.  

(iv) The total of purchases book was carried forward 

as ` 98.50 instead of ` 89.50.  

17- izkfIr vkSj Hkqxrku [kkrk dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of Receipts and Payments 

Account.  

18- ,d dEiuh ftldk ys[kkadu o”kZ dys.Mj o”kZ gS  us  

1 tqykbZ  2012 dks ,d e’khu ` 30,000 eas Ø; dhA blus 

1 tuojh  2013 dks ` 20,000 dh ,d e’khu rFkk  

1 vDVwcj  2013 dks ` 10,000 dh ,d e’khu vkSj Ø; dhA 

tks e’khu 1 tqykbZ  2012 dks Ø; dh x;h Fkh mldk 1/3 

Hkkx 1 vizSy  2014 dks csdkj gks x;k vkSj mls ` 3,000 eas 

csp fn;k x;k gSA 

dEiuh dh iqLrdksa eas e’khu [kkrk [kksfy,A kl LFkkbZ izHkkx 

i)fr ls 10% izfr o”kZ dh nj ls fudkyk tkrk gSA  

A company whose accounting year is the calendar 

year, purchased on 1st July, 2012 machinery costing  

` 30,000. It purchased further machinery on 1st 

January, 2013 costing ` 20,000 and on 1st October, 

2013 costing ` 10,000. On 1st April, 2014, one-third of 
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the machinery installed on 1st July, 2013 became 

obsolete and was sold for ` 3,000. 

Show how Machinery Account would appear in the 

books of the company, it being that machinery was 

depreciated by fixed instalment method at 10% per 

annum.  

[k.M&n 

(Section—D) 

19- Lons’kh dEiuh fyfeVsM dk eq[; dk;kZy; dkuiqj esa gS vkSj 

mldh ‘kk[kk bVkok esa gSA ;g ‘kk[kk udn rFkk m/kkj nksuksa 

izdkj dh fcØh djrh gSA fuEukafdr lwpukvksa ds vk/kkj ij  

tks 2015&16 esa eq[; dk;kZy; vkSj ‘kk[kk ls lEcfU/kr gSa  

eq[; dk;kZy; dh iqLrdksa esa ‘kk[kk [kkrk vkSj nsunkj [kkrk 

[kksfy, % 

  ` 

1. izkjfEHkd jgfr;k 10,000 

2. izkjfEHkd nsunkj 5,000 

3. ‘kk[kk us eq[; dk;kZy; ls eky izkIr fd;k 35,000 

4. O;;ksa ds fy, ‘kk[kk dks jksdM+ Hksth 2,000 

5. udn foØ; 20,000 

6. nsunkjksa ls jksdM+ izkIr dh 10,000 

7. ‘kk[kk }kjk eky ykSVk;k x;k 500 

8. vafre jgfr;k  6,000 

9. ekxZ eas eky  1,000 
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10. xzkgdksa us eky ykSVk;k 3,000 

11. xzkgdksa dks dVkSrh nh 500 

12. vizkI; _.k 1,500 

13. m/kkj fcØh 30,000 

Swadeshi Co. Ltd. has its Head Office at Kanpur and 

Branch at Etawah. The Branch sells for cash as well as 

credit. With the help of the following transactions, 

which took place between Head Office and Branch 

Office in the year 2015-16; prepare Branch Account 

and Debtors Account in the books of Head Office : 

  ` 

1. Opening Stock 10,000 

2. Opening Debtors  5,000 

3. Goods supplied to the Branch from 

Head Office 35,000 

4. Cash sent to Branch for Exp. 2,000 

5. Cash sales 20,000 

6. Cash received from Debtors  10,000 

7. Goods returned by the Branch  500 

8. Closing stock  6,000 

9. Goods in transit  1,000 

10. Goods returned by customers 3,000 

11. Allowed discount to customers 500 

12. Bad Debts 1,500 

13. Credit Sales 30,000 
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20- enzkl VªkUliksVZ dEiuh fyfeVsM us ckWEcs eksVj dEiuh 

fyfeVsM ls 1 vizSy  2013 dks ,deksVj ykWjh fdjk;k Ø; 

i)fr ij Ø; dhA ` 10,000 mlh le; udn fn;s vkSj 

nl&nl gtkj dh rhu fd’rsa vkSj nsus ds fy, lger gks 

x;hA izR;sd o”kZ ds vUr esa buesa ls ,d fd’r 31 ekpZ dks 

ns; gksrh gSA eksVj ykWjh dk udn ewY; ` 37,250 gS vkSj 

eksVj dEiuh fyfeVsM 5% izfr o”kZ dh nj ls C;kt ysrh gSA 

VªkUliksVZ dEiuh fyfeVsM izfro”kZ Øekxr kl iz.kkyh ds 

vk/kkj ij 10% izfr o”kZ kl dkVrh gSA 

 enzkl VªkUliksVZ dEiuh fyfeVsM dh iqLrdksa esa iath 

izfof”V;k¡ dhft, ,oa fo’ys”k.k rkfydk Hkh cukb;sA 

The Madras Transport Co. Ltd. purchased a motor 

lorry from the Bombay Motor Co. Ltd. on a hire-

purchase agreement on 1st April, 2013; paying cash 

` 10,000 agreeing to pay their further instalment of 

` 10,000 each on 31st March of every year. The cash 

price of the motor lorry is ` 37,250. and the motor 

lorry Co. Ltd. charges interest at 5% per annum. The 

Transport Co. Ltd. write off 10% depreciation every 

year on the cash value of the lorries on the reducing 

balances method. 

Make journal entries in the book of Madras Transport 

Co. Ltd. and also make analytical table.  

21- lap; ls vki D;k le>rs gSa \ fofHkUu izdkj ds lap; dks 

fyf[k, vkSj Li”V dhft, fd budk l`tu D;ksa vkSj dSls 

fd;k tkrk gS \ 

What do you understand by Reserve ? Write the 

different kinds of reserve and explain, why and how 

they are created ? 
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22- fdu ifjfLFkfr;ksa esa lk>snkjh QeZ dk fo?kVu fd;k tk 

ldrk gS \ O;k[;k dhft,A  

Under what circumstances can a partnership firm be 

dissolved ? Explain.  

[k.M&b 

(Section—E) 

23- 31 ekpZ  2016 dks P, Q vkSj R dk fuEufyf[kr vkfFkZd 

fpV~Bk gS % 

iw¡th vkSj nkf;Ro jde (`) 

ysunkj 5,000 

iw¡th %                 ` 

  P  3,000 

 

Q 3,000  

R 4,000 10,000 

 15,000 

 

lEifŸk;k¡ vkSj nkf;Ro jde (`) 

udn 1,500 

cSad 1,500 

nsunkj 2,000 

izkI; foi= 2,000 

jgfr;k 3,000 

e’khujh 5,000 

 15,000 
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‘R’ vodk’k xzg.k djrk gS vkSj fuEufyf[kr lek;kstuk 

fd;s tkrs gSa %  

¼v½ QeZ dh dqy [;kfr eas ‘R’ dk fgLlk ` 3,000 

ewY;kafdr fd;k tk;sxkA  

¼c½ LVkWd esa 15% ls vfHko`f) dh tk,A  

¼l½ e’khu dks 10% ls kflr fd;k tk,A 

¼n½ lafnX/k _.k ds fy, 5% lafpfr djuh gSA 

¼b½ vnŸk O;;ksa ds fy, ` 200 dk izko/kku djuk gSA 

ykHk&gkfu lek;kstu [kkrk  lk>snkjksa dk iw¡th [kkrk vkSj 

u;k vkfFkZd fpV~Bk cukb;sA 

The following is the Balance Sheet of P, Q and R as at 
31st March, 2016 : 

Capital and Liabilities Amount (`) 

Creditors  5,000 

Capital :   ` 

        P        3,000 

 

Q 3,000  

R 4,000 10,000 

 15,000 

 

Assets and Liabilities Amount (`) 

Cash 1,500 

Bank 1,500 

Debtors  2,000 

Bills Received 2,000 

Stock  3,000 

Machinery 5,000 

 15,000 



 [ 12 ] P–7231 

‘R’ retires and the following adjustments are made : 

(a) ‘R’ shares in total goodwill of the firm will be 

valued at 3,000. 

(b) Stock be appreciated by 15%. 

(c) Machinery be depreciated by 10%. 

(d) 5% reserve made for doubtful debts.  

(e) Provision of ` 200 be made for outstanding 

expenses.  

Prepare Profit & Loss Adjustment Account, Partners’ 

Capital Accounts and the new balance sheet. 

24- kl dh O;oLFkk djus dh fofHkUu i)fr;ksa dk o.kZu 

dhft,A 

Describe the different methods of providing for 

depreciation.  
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P–7232 

B. Com. (First Year) 

 Term End Examination, June-July, 2020-21 

¼lewg&I½ 

Paper Second 

O;kolkf;d xf.kr 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- Qyu nx  dk vody xq.kkad D;k gS \ 

What is differential coefficient of function nx  ? 

2- log m n dk D;k eku gksrk gS \ 

What is the value of log m n  ? 

3- ;fn  

5 3
A

2 7
, 

2 4
B

3 1
, 

rks A + B  Kkr dhft,A 

If  

5 3
A

2 7
, 

2 4
B

3 1
,  

then find A + B. 
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4- lkjf.kd 
4 3

A
1 2

 dk eku Kkr dhft,A 

Find the value of determinant 
4 3

A
1 2

. 

5- 8 ls.VhehVj rFkk 3 ehVj dk D;k vuqikr gS \ 

What is the ratio of 8 cm to 3 m ? 

6- A, B rFkk C 2 % 3 % 7 ds vuqikr esa ykHk ck¡Vrs gSaA ;fn 

vkSlr ykHk ` 8,000 gks  rks B ds fgLls esa D;k vk,xk \ 

A, B and C share the profit in the ratio of 2 : 3 : 7. If 

the average gain is ` 8,000 what is B’s share ? 

7- pØòf) C;kt esa feJ/ku dk D;k lw= gS \ 

What is the formula of Amount in Compound 

Interest ? 

8- okf”kZdh D;k gS \ 

What is Annuity ? 

[k.M&c 

(Section—B) 

9- logxe x dk vodyt Kkr dhft,A 

Find derivative of logxe x . 

10- ;fn log 2 = 0.3010 rFkk log 3 = 0.4771 gks  rks log 6 

dk eku Kkr dhft,A 

If log 2 = 0.3010 and log 3 = 0.4771, then find the 

value of log 6. 
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11- ;fn 
2 1

A
3 4

 gks  rks 3A + 5I  dk eku Kkr dhft,A 

If 
2 1

A
3 4

, find 3A + 5I. 

12- fl) dhft, % 

12
7

5

a a
ac

c c
  

Prove that : 

12
7

5

a a
ac

c c
  

13- nks la[;kvksa dk vuqikr 2 % 3 gS rFkk mudk ;ksx 85 gSA 

la[;k,¡ crkb,A 

The ratio of two numbers is 2 : 3 and their sum is 85. 

Find the numbers. 

14- fuEufyf[kr la[;kvksa dk vkSlr Kkr dhft, % 

80, 70, 120, 100, 110 

Find the average of the following : 

80, 70, 120, 100, 110 

[k.M&l 

(Section—C) 

15- 
dy

dx
 Kkr dhft, ;fn % 

 3 2Y 5 2 3x x xA 

Find 
dy

dx
 if : 

3 2Y 5 2 3x x x . 
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16- ;fn 
4 4

A
2 3

 rFkk 

3 1

B 5 1

3 5

 gks  rks AB dk eku 

Kkr dhft,A 

If 
4 4

A
2 3

and 

3 1

B 5 1

3 5

, find AB. 

17- vuqikr 5 % 6 ds izR;sd in esa ls D;k ?kVk;k tk, fd 

vuqikr 8 % 11 gks tk, \ 

What should be substracted from each term in the ratio 

5 : 6, so that it becomes 8 : 11 ?  

18- vt; us ,d e’khu ` 1250 esa [kjhndj ` 1100 esa csp nhA 

mldh gkfu ,oa gkfu dk izfr’kr Kkr dhft,A 

Ajay purchased a machine for ` 1,250 and sold it for  

` 1,100. Find his loss and loss percentage. 

[k.M&n 

(Section—D) 

19- ;fn log 2 0.3010  rFkk log 3 0.4771  

rks  
15 2

log log
16 5

  dk eku crkvksA 

If log 2 0.3010  and log 3 0.4771, find the value 

of 
15 2

log log
16 5

. 
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20- lkjf.kd 

10 13 16

11 14 17

12 15 18

 dk eku Kkr dhft,A 

Evaluate the determinant 

10 13 16

11 14 17

12 15 18

. 

21- A rFkk B dh vk;q esa 9 % 4 dk vuqikr gSA lkr o”kZ ckn 

mudh vk;q dk vuqikr 5 % 3 gksxkA orZeku esa nksuksa dh 

vk;q fudkfy,A 

The ages of A and B are in the ratio of 9 : 4. Seven 

years hence, the ratio of their age will be 5 : 3. Find 

their ages. 

22- fdlh ?ku dk 3 Ok”kZ esa 10% okf”kZd dh nj ls pØo`f) 

C;kt ` 496-50 gks tkrk gSA /ku crkb,A  

The compound interest of a certain sum of money is  

` 496.50 for 3 years at the rate of 10% per annum. Find 

the sum of money. 

[k.M&b 

(Section—E) 

23- ;fn 2 2 7a b ab  gks  rks fl) dhft, fd % 

log log
log

3 2

a b a b
 

If 2 2 7a b ab , prove that : 

 
log log

log
3 2

a b a b
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24- fuEufyf[kr lkj.kh ls vkSlr Kkr dhft, % 

oxZ vkòfŸk 

0—10 

10—20 

20—30 

30—40 

40—50 

10 

12 

20 

18 

10 

Calculate average from the following table : 

Class Frequency 

0—10 

10—20 

20—30 

30—40 

40—50 

10 

12 

20 

18 

10 
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Paper  Third 

O;kolkf;d lapkj ,oa lEizs”k.k 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1

2
2

 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
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[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 

[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  

Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- lEizs”k.k D;k gS \ 

What is Communication ? 

2- fopkj&foe’kZ D;k gS \ 

What is Discussion ? 

3- layXud D;k gS \ 

What is Enclosures ? 

4- bZ&dkWelZ D;k gS \ 

What is e-Commerce ? 

5- QSDl D;k gS \ 

What is Fax ? 
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6- ekSfyd izes; dk lgh lehdj.k D;k gS \ 

What is the correct equation of the Fundamental 

Theorem ? 

7- xqPNk Ük̀a[kyk D;k gS \ 

What is Cluster Chain ? 

8- ßvk¡[ksa lokZf/kd lqn`<+ lEizs”kd gSaAÞ fdldk dFku gS \ 

“Eyes are the strongest communicator.” Whose 

statement is this ? 

[k.M&c 

(Section—B) 

9- ys[ku dkS’ky D;k gksrk gS \ 

What is Writing Skill ? 

10- lapkj dh izÑfr dks le>kb;sA 

Explain the nature of Communication. 

11- vkns’k&i= D;k gS \ 

What is Order Letter ? 

12- lewg ds fdrus izdkj gksrs gSa \ 

How many types of group are there ? 

13- lapkj dk bLykfed fl)kUr D;k gS \ 

What is Islamic Theory of Communication ? 

14- ohfM;ks dkWUÝsaflax D;k gS \ 

What is Video Conferencing ? 
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[k.M&l 

(Section—C) 

15- Jksrkvksa ds izdkj crkb;sA 

Explain the types of Audience. 

16- ifjppkZ ds vko’;d rRoksa dh foospuk dhft;sA 

Discuss the essential elements of Discussion. 

17- izLrqrhdj.k ds izdkj le>kb;sA 

Explain the types of Presentation. 

18- okf.kT; izoDrk in gsrq vkosnu&i= fyf[k;sA 

Write an application for the post of Lecturer of 

Commerce. 

[k.M&n 

(Section—D) 

19- lapkj ds fl)kUrksa dh O;k[;k dhft;sA 

Explain the theories of Communication. 

20- lapkj dh ck/kkvksa dks nwj djus ds lq>ko nhft;sA 

Give the suggestions to elimate different barriers of 

Communication. 

21- izfrosnu dk vFkZ] fo’ks”krk;sa ,oa mís’; fyf[k;sA 

Write the meaning, characteristics and objectives of 

report. 
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22- ßnSfgd Hkk”kk dk lapkj esa egRoiw.kZ ;ksxnku gSAÞ dSls \ 

“Kinesics plays a very important role in 

Communication.” How ? 

[k.M&b 

(Section—E) 

23- vaxwjhyrk lEizs”k.k ds izdkj] xq.k&nks”k ,oa bldh mPp 

lfØ;rk ds dkj.k le>kb;sA 

Explain kinds, merits and demerits of Grapevine 

Communication and its causes for hyperactivity. 

24- ß,d O;kolkf;d i= bruk izHkkoh gksuk pkfg;s fd og ftl 

lhek rd lEHko gks lds] ys[kd dk Hkh LFkku ys ldsAÞ 

o.kZu dhft;sA 

“A business letter should be hearded that it can replace 

the writer as completely as possible.” Discuss. 
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P–7234 

B. Com. (First Year) 

 Term End Examination, June-July, 2020-21 

¼lewg&II½ 

Paper  Fourth 

O;kolkf;d fu;eu ,oa :ijs[kk 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1

2
2

 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  

Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- diV dh /kkjk D;k gS \ 

What is the Section of Fraud ? 

2- lwpuk vf/kdkj vf/kfu;e dk o”kZ D;k gS \ 

What is the year of RTI Act ? 

3- izLrko D;k gS \ 

What is a proposal ? 

4- fofue; foi= esa fdrus i{kdkj gksrs gSa \ 

How many parties are there in the Bill of Exchange ? 

5- chek dk Bgjko gksrk gS 
-----------------

A 

Agreement of Insurance is a ......... . 

6- lês dk Bgjko gS 
---------------

A 

Agreement of Speculation is a ........... . 
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7- ,tsUlh D;k gS \ 

What is an Agency ? 

8- ,tsUlh iqf”Vdj.k dh vof/k D;k gksrh gS \ 

What is a period of Agency Rectification ? 

[k.M&c 

(Section—B) 

9- izLrko ls vki D;k le>rs gSa \ O;k[;k dhft,A  

What do you mean by Proposal ? Explain. 

10- izfrQy ls vkidk D;k vk’k; gS \ 

What do you mean by Consideration ? 

11- mRihM+u ls D;k vk’k; gS \ 

What is meant by Coercion ? 

12- izR;kHkwfr vuqca/k dks le>kb,A 

Discuss contract of guarantee. 

13- gkfuj{kk rFkk izR;kHkwfr ds lafons esa vUrj crkb,A 

Distinguish between a contract of indemnity and 

guarantee. 

14- fxjoh D;k gS \ 

What is Pledge ? 

[k.M&l 

(Section—C) 

15- vo;Ld ds lkFk fd;s x;s Bgjko O;FkZ gksrk gSA bl dFku 

dks le>kb,A 

Agreement with minor is void abriot. Discuss. 
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16- ßfcuk izfrQy ds Bgjko O;FkZ gksrk gSAÞ O;k[;k dhft,A 

“A contract without consideration is void.”  

Comment. 

17- pSd ,oa fofue; foi= ds e/; vUrj Li”V dhft,A 

Distinguish between Cheque and Bill of Exchange. 

18- lwpuk dk vf/kdkj vf/kfu;e  2005 ds izeq[k izko/kkuksas dk 

o.kZu dhft,A 

Discuss the main provisions of RTI Act, 2005. 

[k.M&n 

(Section—D) 

19- vuqcU/k [k.Mu dh fofo/k fof/k;kssas dk o.kZu dhft,A 

Describe the methods of breach of contract. 

20- pkyw [kkrk laO;ogkj D;k gS \ 

What are the Current Account Transaction ? 

21- Øsrk dh lko/kkuh dk fu;e dh O;k[;k dhft,A 

Explain the rule of caveat emptor. 

22- pSd js[kkadu ds izdkjksa dk o.kZu dhft,A 

What are the classes of crossing of a Cheque ? 

[k.M&b 

(Section—E) 

23- ßleLr vuqca/k Bgjko gksrs gSa ijUrq leLr Bgjko vuqca/k 

ugha gksrsAÞ bl dFku dh O;k[;k dhft,A 
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“All contracts are agreements, but all agreements are 

not contracts.” Explain. 

24- foØ; vuqca/k ds fu”iknu ds lEcU/k esa Øsrk rFkk foØsrk ds 

vf/kdkjksa dk o.kZu dhft,A 

Describe the rights of buyer and the seller in 

connection at the performance of contract of sale. 
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P–7235 

B. Com. (First Year) 

 Term End Examination, June-July, 2020-21 

¼lewg&III½ 

Paper  Fifth 

BUSINESS ECONOMICS 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1

2
2

 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  

Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- ^^vFkZ’kkL=** dk tUenkrk fdls dgk tkrk gS \ 

Who is called the father of “Economics” ? 

2- fefJr vFkZO;oLFkk D;k gS \ 

What is Mixed Economy ? 

3- lhekUr ykxr D;k gS \ 

What is Marginal Cost ? 

4- vkSlr ykxr dk lw= crkb;sA 

Give the formula of Average Cost. 

5- ftl cktkj esa oLrq dk ,d gh mRiknd gksrk gS mls D;k 

dgrs gSa \ 

What is the market called in which there is only one 

producer of goods ? 
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6- ewY; fu/kkZj.k dk lkekU; fl)kUr fdlus izfrikfnr fd;k  

gS \ 

Who propounded the General Theory of Price 

Determination ? 

7- etnwjh D;k gS \ 

What is Wages ? 

8- C;kt D;k gS \ 

What is Interest ? 

[k.M&c 

(Section—B) 

9- cM+s iSekus ds mRiknu ds dkSu&dkSu ls ykHk gSa \ 

What are the advantages of large scale production ? 

10- volj ykxr dk fl)kUr D;k gS \ 

What is Opportunity Cost Theory ? 

11- vYikf/kdkj ls vki D;k le>rs gSa \ 

What do you mean by Oligopoly ? 

12- mRiknu ds fdlh lk/ku dk ewY; fdl izdkj fu/kkZfjr gksrk 

gS \ 

How is the price of any mean of production 

determined ? 

13- vFkZ’kkL= dh fo”k;&lkexzh dks crkb;sA 

Explain the subject-matter of Economics. 
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14- dqy ykxr dSls Kkr dh tkrh gS \ 

How is the total cost determined ? 

[k.M&l 

(Section—C) 

15- dher ;U= ls vki D;k le>rs gSa \ ,d vFkZO;oLFkk esa 

bldh Hkwfedk D;k gksrh gS \ 

What do you understand by Price Mechanism ? 

Discuss the role of it in an economy. 

16- izeq[k ykxr rFkk vuqiwjd ykxr esa vUrj dhft;sA 

Distinguish between Prime and Supplementary Cost. 

17- vk/kqfud vFkZO;oLFkk esa O;olk; QeZ ds egRo dks le>kb;sA 

Discuss the importance of business firm in Modern 

Economy. 

18- ykHk fu/kkZj.k ds fdUgha nks izeq[k fl)kUrksa dh O;k[;k 

dhft;sA 

Discuss any two principal theories of Price 

Determination. 

[k.M&n 

(Section—D) 

19- mRifÙk ds fu;e ,oa iSekus ds izfrQy esa vUrj crkb;sA 

Differentiate between laws of returns and return to 

scale. 

20- vYidky rFkk nh?kZdky esa vkSlr ykxr ds O;ogkj dh 

foospuk dhft;sA 

Discuss the behaviour of Average Cost in the short 

period and long period. 
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21- viw.kZ izfr;ksfxrk ls vki D;k le>rs gSa \ blesa ewY; 

fu/kkZj.k dSls fd;k tkrk gS \ 

What do you mean by Imperfect Competition ? How is 

price determined under it ? 

22- etnwjh fu/kkZj.k ds fofHkUu fl)kUrksa dks le>kb;sA 

Explain the various theories of Wages Determination. 

[k.M&b 

(Section—E) 

23- ek¡x dh yksp ds vFkZ] izdkj ,oa egRo dks le>kb;sA 

Explain the meaning, kinds and importance of 

Elasticity of Demand. 

24- ,dkf/kdkj dk vFkZ crkb;sA blds vUrxZr ewY; dk fu/kkZj.k 

dSls fd;k tkrk gS \ 

Discuss the meaning of Monopoly. How are the prices 

determined under Monopoly ? 
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P–7236 

B. Com. (First Year) 

 Term End Examination, June-July, 2020-21 

¼lewg&III½ 

Paper  Sixth 

O;kolkf;d i;kZoj.k 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1

2
2

 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- gekjs ns’k esa izfr O;fDr vk; gS % 

¼v½ vf/kd 

¼c½ U;wu 

¼l½ e/;e 

¼n½ vfr T;knk 

Per capita income in our country is : 

(a) More 

(b) Low 

(c) Medium 

(d) Most 

2- cSadksa dk cSd gS % 

¼v½ ,l- ch- vkbZ- 

¼c½ vkj- ch- vkbZ- 

¼l½ ih- ,u- ch- 

¼n½ vkbZ- lh- vkbZ- lh- vkbZ- 

The Bank of Banks is : 

(a) SBI 

(b) RBI 

(c) PNB 

(d) ICICI 
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3- foŸk dk igyw dkSu&lk gS \ 

¼v½ izkfIr 

¼c½ O;; 

¼l½ mi;ksx 

¼n½ ;s lHkh 

What is the element of  Finance ? 

(a) Receipt 

(b) Expenditure 

(c) Uses 

(d) All of these 

4- cpr dk lw= gS % 

¼v½ cpr = vk; – miHkksx 

¼c½ cpr = vk; + fuos’k 

¼l½ cpr = vk; – miHkkx + fuos’k 

¼n½ buesa ls dkbZ ugha 

Formula of saving is : 

(a) Saving = Income – Consumption 

(b) Saving = Income + Investment 

(c) Saving = Income – Consumption + Investment 

(d) None of these 

5- csjkstxkjh dk izeq[k dkj.k gS % 

¼v½ f’k{kk 

¼c½ tula[;k 

¼l½ m|ksx 

¼n½ ;s lHkh  
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Main cause of unemployment : 

(a) Education 

(b) Population 

(c) Industries 

(d) All of these 

6- LQhfr ls ykHk gksrk gS % 

¼v½ mRiknd dks 

¼c½ O;kikjh dks 

¼l½ nksuksa ¼v½ ,oa ¼c½ 

¼n½ buesa ls dksbZ ugha 

Inflation is beneficial for : 

(a) Producer 

(b) Businessmen 

(c) Both (a) and (b) 

(d) None of these 

7- ljdkj lekt dh gksrh gS % 

¼v½ izfrfuf/k 

¼c½ rkuk’kkg 

¼l½ cSadj 

¼n½ foHkkx 

Government is for public : 

(a) Representative 

(b) Autrocratic  

(c) Banker 

(d) Department 
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8- izFke vkS|ksfxd uhfr dh ?kks”k.kk dh % 

¼v½ MkW- ‘;kek izlkn eq[kthZ us 

¼c½ tokgjyky usg: us 

¼l½ ih- fpnEcje us 

¼n½ vthr flag us 

Who declared First Industrial Policy ? 

(a) Dr. Shyama Prasad Mukherjee 

(b) Jawahar Lal Nehru 

(c) P. Chidhambaram 

(d) Ajit Singh 

[k.M&c 

(Section—B) 

9- O;olk; okrkoj.k dh /kkj.kk D;k gS \ 

What is the concept of business environment ? 

10- jk”Vªh; vk; ls vkidk D;k vk’k; gS \ 

What do you understand by national income ? 

11- xjhch fuokj.k ds fy, pkyw fd;s x;s dk;ZØeksa dks Li”V 

dhft,A 

Discuss the Poverty Alleviation Programme. 

12- eqnzk LQhfr dks ifjHkkf”kr dhft,A 

Define Inflation. 

13- fo’o O;kikj laxBu ds dk;Z crkb,A 

Discuss the functions of WTO. 
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14- vUrjkZ”Vªh; eqnzk dks”k D;k gS \ 

What is International Monetary Fund ? 

[k.M&l 

(Section—C) 

15- eqnzk dh ek¡x ls vki D;k le>rs gSa \ 

What is meant by demand of money ? 

16- Hkkjr essa csjkstxkjh ds :i crkb,A 

Explain the forms of unemployment in India. 

17- oS’ohdj.k ls D;k vk’k; gS \ 

What is meant by Globalisation ? 

18- fo’o cSad dh vlQyrk,¡ le>kb,A 

Discuss the failures of World Bank. 

[k.M&n 

(Section—D) 

19- vkS|ksfxd #X.krk D;k gS \ blds dkj.kksa dh leh{kk dhft,A 

What is Industrial Sickness ? Examine the causes of 

Industrial sickness. 

20- cpr ls vki D;k le>rs gSa \ cpr dh nj fuEu gksus ds 

dkj.k D;k gSa \ 

What do you mean by Savings ? What are the causes 

for low rate of savings ? 
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21- ekSfnzd uhfr ls vki D;k le>rs gSa \ blds mís’; 

le>kb,A 

What do you understand by Monetary Policy ? Discuss 

its objectives. 

22- Qsek ds izeq[k izko/kkuksa dk o.kZu dhft,A 

Discuss the main provisions of FEMA. 

[k.M&b 

(Section—E) 

23- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) cpr ds fu/kkZjd rRo 

(ii) iw¡th fuekZ.k ds la?kVd 

Write short notes on the following : 

(i) Determinants of Savings 

(ii) Components of Capital Formation 

24- xSV dk o.kZu dhft,A 

Describe GATT. 
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